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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(iti) This Question paper contains 20 Multiple Choice type questions. Each
question carries 1 mark.

(tv)  This Question paper contains 4 Short Answer Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This Question paper contains 4 Long Answer type questions. Each
question carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There ts no overall choice in the question paper. However, an internal
choice has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

SECTION - A
(Macro Economics)

1. In the context of Current Account transactions of Balance of Payment,
identify the incorrect statement from the following : 1
(Choose the correct option)
Options :
(A) Export of goods and services are recorded as credit items.
(B) Import of goods and services are recorded as debit items.
(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.
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(a) GUfad T ()  gEEEWwE
(b) STl d A () @™
(c) Tafsm sma (iii) TR gRT Yea R
Th AT
(d)  HHETET T AT (iv) Yt
ferpey :
A (@ -0 B) (b) - (i)
(€) (o) — (iii) D) (@) -@Gv)
3. Trafeiea el o1 eamgees 1R e 1

w1 : yafea ford) fafm ot yomeft fer 9 70 fafvmer ot someft <61 v Tamie & |
HYT 2 : yata ford) fafma ot yomeft @ ‘ErEiee yonett S wa H W IS R |
few mu e % 3rrettes #, fraferfigad § 8w fashen 1 =a hifse

(A) HUT 1T TN HUT 2 AR |

(B) ®oH 13T INHYT 2T R |

(C) #1332 A |

(D) e 13 2 I T E |

4.  “STH (Th BE) 7 3T hieist shl 1 o feTt T 80,000 <61 01 fofam B | 98 HA1ash 8
% TE HTE I1¢ R JHMT TR H hl AeHT 541 T 8, 58 98 10 a9 it sm@fy §
geera |7

IYAH T o SMYR TR g1 o Sy Sl <hi wg=m i | @& o = R) 1
faemen

A) fafm % mem B) @ H TR

(C) TARTG YT 1 HFH D) I &I

5. A wfifu, frdt steferawen @1 =@ 9% T 50 HUS b RUMHS Tod W Y
(intercept) ST & | JTefTwT H, 371 H Fhg T 20% S=d o &I H @I A1 ¢ |

Ik TeH oh JTetreh o, a1 7ok (K) < He <hl TgaH o | 1
foremea
A 2 B) 5 .
(C) 10 D) (o) 3Fq
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From the items given in Column-I and Column-II, choose the correct pair. 1
Column-I Column-II
(a) Income from Property (6] Old age pension
(b) Income from Entrepreneurship (i1) Profit
(¢) Mixed Income (i11)) Rent free accommodation
from an employer
(d) Compensation of Employees (iv)  Interest from capital
Options :
A @-0 B) b) -G
(©) (c) — (i) D) (@) -Gav)

Read the following statements carefully : 1

Statement-1 : Managed floating exchange rate system 1is an
amalgamation of fixed and flexible exchange rate system.

Statement-2 : Managed floating exchange rate system is also known as
‘hybrid system’.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

“Irfaan (a student) borrows ¥ 80,000 to finance his college fee. He plans to
begin repaying the loan six months after his graduation, making
payments over a span of ten years.”
Based on above text, identify the indicated function of money.

(Choose the correct option) 1
Options :
(A) Medium of Exchange (B) Unit of Account
(C) Standard of Deferred Payments (D) Store of Value

Suppose, the saving curve of an economy makes an intercept at a negative
value of ¥ 50 crores. In the economy, 20% of an increase in income is
saved.

In the light of above context, identify the value of investment multiplier (K). 1
Options :

A 2 B) 5

(C) 10 (D) oo (infinite)
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6. Tafafad swui-s1fise (A) 9 RO (R) o1 31e[ it | = feu v fowmedi § @ w&
forehe o1 = AL 1
AP (A) : TR T J TEGU &, ToFTepT IuT St g amgfess €9 ¥ foRan

SAE |

%I (R) : HTEh U STashd Td TTg-gTeeeh Jehfd ohi Bl & |

ferpey -

(A) FARHAT (A) T HROT (R) GHI Fed & U1 HRY (R), AWHST (A) 1 Hel 3w
2|

(B) AT (A) 9 HRUT (R) HI T &, WAfehd SR (R), AMHUT (A) 6T T&l
T TE HAT R |

(C) AR (A) T 7, SAfehd HRUT (R) 3EA 2 |

(D) ARTRAT (A) 3T B, Afehd HIOT (R) T 2 |

7.  HH Aife, 3fEd 3ud Sgfd (APC) %1 9o 0.8 2 7T TR 31 % 4,000 S &, @

Sod 1 e 3 S BT | (Tt forerea gr e worm 1 gfd 6L 1) 1
ﬁm:
(A) 100 B) 200
(C) 500 D) 800
8. dfurfsues Sehl & el #, Fimfaflga d a P o e g 8 2 1

(T faspea BT =R L 1)
@) sl forg ST Tt B & |
(1) 3 3refeaee § 9@ goish 8 ¢ |
(IID) 3 A a1 H AT bR Hd & |
AV) o AR fstd sieh ohl 3T 8 STHT Tieh R i 2 |

forepeq
A @, dD s dID B) dI)= dII)
© @O3an O O3 AV)

9. Rt HE TP T 600 IS FT T AT HIET & AT % 450 IS I HIS ST LT B, Al
Y o TR T bl godf I HUS hl B | 1
(A) 150, g1 B) 150, JAfRN
(C) 1,050, g1 (D) 1,050, A=
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Read the following statements : Assertion (A) and Reason (R). Choose the
correct option from those given below : 1

Assertion (A) : Public goods are those goods that are collectively
consumed by the public.

Reason (R): Public goods are excludable and rivalrous in nature.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

7. Suppose, the value of Average Propensity to Consume (APC) is 0.8 and
National Income is ¥ 4,000 crores, the value of saving would be ¥

crores. (Choose the correct option to fill up the blank) 1
Options :

(A) 100 (B) 200

(C) 500 (D) 800

8. In the context of the Commercial Banks, which of the following
statements are correct ? (Choose the correct option) 1
(I) Deposits received are liabilities for Commercial Banks.
(II) They are creator of credit in the economy.
(IIT) They accept deposits from general public.
(IV) They accept deposits on behalf of Reserve Bank of India.

Options :
(A) @), (dI) and (III) (B) I) and (III)
(C) (@) and (II) D) @) and AV)

9. If a country exports goods worth of ¥ 600 crores and imports goods worth
of ¥ 450 crores, the value of Balance of Trade of the country would be

of % crores. 1
(A) deficit, 150 (B) surplus, 150
(C) deficit, 1,050 (D) surplus, 1,050
58/1/1 ~ 7|Page Eﬁ.ﬁl P.T.O.
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10. hicH-1 9 shicH-1T H feT 74 uei < g | & T I 1 =994 W : 1
HicH-1 Hiem-11
(@) - (i) THITFMR
(b)  FATET H (i)  g® @R (Free-rider)

11.

12.

13.

14.

(¢ ISt == (i) =@

@ e et (iv)  whiggreTe st
Tareheq

A) (@) -0 B) (b) — (i)
©) (o) — (i) D) (@) —@Gv)

(a) HTEH AT WS Hed Ira (NVA) o Hod ol TURT i : 3

g, e qf

R FUSH)
Q) | ufemem ey 3,740
(i) | @RET (unsold stock) ¥ Jfg 600
(i) | feshr 10,625
(iv) | <= T T T 2,625
(v) | TR ST ot SUHH 500
(vi) | 3ueH 400

(vi) | AT HL 1,200

FAYET
(b) Teresi & wTH 3hg H1eE ™ (NFIA) a1 3 7ol (X — M) hHed i e@g st | 3

“GTRR A ¥ % Tafir=r st H e i Miedtfed & o foT “sTqed wRa AT IRy
ERIEIN

IYARH AT o AR faesft g1 Yer qeim ST Sder W Ue- arel Il o forea) &
Jeeiiad | 3

o o

fIfercdT TR 3UeTed Ul

“ITTISHT R AT o ST TR TS o e ot b1 130
g1
IR HYH H SATA SS1e S hi Tehid o IHeh 334 hl TgaH o SRS ht | 4

T <fifore, foreft sreferamen # wafies ST 2 500 B, fe STRfara 3gura 25% 7 | Sf
TS GRT IS el STHT TR AT %ot U (M) 1 ITHM T | 4
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10. From the set of terms given in Column-I and Column-II, choose the

correct pair : 1
Column-I Column-II
(a) Non-tax Revenue 1) Goods and Services Tax
(b) Indirect Tax (11) Free-rider
(¢) Capital expenditure  (i11) Borrowings
(d) Private goods (iv)  Rivalrous in nature
Options :
A @-0 B) (b) — (1)
©) (o) — (i) D) (@) -Gav)
11. (a) Calculate the value of Net Value Added at Factor Cost (NVAp() : 3
S. No. Particulars Amount
(In % crore)
1) Operating Surplus 3,740
(11) Increase in unsold stock 600
(111) | Sales 10,625
(iv) | Purchase of raw materials 2,625
) Consumption of fixed capital 500
(vi) | Subsidies 400
(vii) | Indirect taxes 1,200
OR
(b) Distinguish between Net Factor Income from Abroad (NFIA) and Net
Exports (X —M). 3

12. “The Government had launched Incredible India Campaign to promote
tourism in various parts of the country.”
Elaborate the impact of this campaign on foreign exchange reserves and
Balance of Payment of India. 3

13. “Under the Ayushmaan Bharat Scheme, the government provides free
medical treatment to the poorer section of the society.”
Identify and explain the nature of budget expenditure and its objective,
indicated in the given statement. 4

14. Suppose in an economy, primary deposits are T 500, if the Reserve Ratio is
25%. Estimate the total deposits created and the total lending by the
banking system. 4

58/1/1 ~ 9|Page [ P.T.O.
&



@2 collegebatch con

15. (a) U FAIEEH; C =200 + 0.75 Y (S8 C = 39 =57 g, a1 Y = T 311
2) 4
fraw =™ =% 4,000 € B |
Trferfaa < oL
(i) 3T T HeH &l
(i) 3T o HITH T W HA T -
Feqa
(b) TcATIETd s o JeaTterd FHasr ¥ 31feres a1 <l [l A s aa hr e st | 4

16. Tr=feriaa me 1 ey STereE i

FET W 9 IUARET HHeT o Tl 7 a1 foh, TR 3 W aani il G (retail)
a1 ffd v o fore forra ot @ =68 afsh weq 3a1U | 321 *a fo, T 1
e Y 1 AT glg & T Fopu, fort Gerehifer <l Foremron ©f @ @ | ek 2023
Geu EEhIfd 5.55% o fiH AT8 & I=ad &R W U5 T8, S fob @ gerei it sed
HIdi o HRU 2 | I 2023 H gErehifa ¥ fivae 3w oft, 59 97 6.83% W Ugd TS
oft | 3TTaTeh TEG hl Ak (wholesale) T G (retail) Heoli W et AR @A =g
g TR F 140 T gt Tt g worfia fope 2 |

TR A g, g2 Fad, R-SEHd e Iad, W& 37fE w3 e e & fafd ©
siferarer o0 R B | ey 3mafd  Sieefed e o forg den yew gfg it b we %
ToTT TR 7 ferete 9 gote W 31T Yoo Mt pra fean g |

IURh T & HTHT TH o STYR R eferiaa g9 & 3w S

(a) THR gRT wnfid ¢ geor Frrrf gl <hY wien s | 1
(b) TR 3MYf T TeaTfad L o gt | il A o foTe Tepr gy 3eme e fomeddl &
Hishd U o1 Seoil . | 2
(0 agrehifa ot fEifa o % fore warn fonet ueh wifeeh sur o smen i | 3
17. (@) () == fafa g ofe g 6 AT R JHT AT 9 arelt Rl g
Hrauia ohl e i | 3
(i) “I el TS 3T (GDP) 1 379 Tea rderaen ¥ awgaii i fd i
3TRI-IucTeudT BT & 1”7 3
I T 1 34 < h QRN oh 0T oh YTIhich oh T H THL 3Ta e & |
Ay
(b) () I9IH ICTEN G, Tieh I Vg T § 3T T . | 3
(i) T A (NNPp) F1 FTAH T h 3 ey 6 AR AT % =i
T AT R | 3
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15. (a) In an economy ; C =200+ 0.75Y (where C is consumption expenditure
and Y is National Income). Investment expenditure is ¥ 4,000 Crore. 4
Calculate the following :
(1) Equilibrium level of income.
(1) Total consumption expenditure at equilibrium income level.

OR
(b) Explain the adjustment mechanism in case ex-ante savings are

greater than ex-ante investments. 4

16. Read the following text carefully :
Union Food and Consumer Affairs Minister said that the Central
Government has taken many proactive steps in the past few years to
control retail prices of food items. He said that the government aims to
keep inflation under control without compromising the country’s economic
growth. Retail inflation inched up to a three-month high of 5.55% in
November 2023 driven by higher food prices. Inflation has been declining
since August 2023, when it touched 6.83%. 140 new price monitoring
centres had been set up by the Central Government to keep a close watch
on wholesale and retail prices of essential commodities.
The Government has banned the export of many food items like wheat, broken
rice, non-basmati white rice, onions etc. It has also reduced import duties on
edible oils and pulses to boost domestic supply and control price rise.
On the basis of the given text and common understanding, answer the
following questions :
(a) Mention the number of new price monitoring centres set up by

government. 1
(b) State any two proactive measures taken by government to boost

domestic supply and reduction in prices. 2
(¢c) Explain any one monetary measure used to control inflation. 3

17. (a) (1) Explain any two precautions to be adopted while estimating

National Income by Expenditure method. 3
(11) “Higher Gross Domestic Product (GDP) always means higher
per capita availability of goods in the economy.” 3

Defend or refute the given statement as the index of welfare of
the people of that country.

OR
(b) (1) Distinguish between Stock and flow variables, using suitable
examples. 3
(11) Explain the components of ‘Profit’ as per Income Method of
estimating National Income (NNPp(). 3

58/1/1 ~ 11|Page [ P.T.O.
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18. <M H e ofiu Biae o1 Wrefifs g & T | 1
(Tt Torepey gr e T HY gfd 6L 1)
farehey
A) = (B) 3ITEfies
(C) foxitm D) fueqor
19. ﬁtrl%rﬁaaﬁ 1

3 ferma wreTaTt <Y vgEE o = B, R e 6 At 39 gl 3 s B R |
forhey

(A) 3nffs (B) UaeRUiT Gehe

(C) dehelehl 3fa (D) |ER{H foehE

e ; frferiaa e Faet givaTrera wEmfR % fore T Tem 19 F WA W R |

g e, Frefafad § @ e = arefig faerm i ool 8 8 wh = R 1
forepeg -

(A) Tl o TR-TTORITA Gl b1 STIT

(B) UierET & foru Sfiamss s o1 3T

(C) URYNEh FH =T TN

(D) Siferes HERE @E H1 3T
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SECTION -B
(Indian Economic Development)

18. sector was the primary focus of the Great Leap Forward in China. 1
(Fill up the blank with correct option)
Options :
(A) Tax (B) Industrial
(C) Financial (D) Educational

19. Study the following picture :

AN

Identify and select, the recent phenomenon in which demand for resources
surpasses their supply.

Options :

(A) Economic growth (B) Environmental crisis

(C) Technological advancement (D) Cultural evolution

Note : The following question is for the visually impaired
candidates only, in lieu of Q. No. 19.
Identify, which of the following is NOT one of the strategies for
Sustainable Development. 1
Options :
(A) Use of non-conventional sources of energy
(B) Use of fossil fuel for transportation
(C) Use of traditional knowledge
(D) Use of organic compost manure

58/1/1 ~ 13|Page Bl P.T.O.
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20. FrfcTRad et 1 eaTYEeh STERE W 1
HYA-1 : HRIG =t i el sl = i sier 8 g & |
HYF-2 : WRA o T &7 F =i Sttt ISRT TSR 61 U T9E &4 8 |
few e et & et #, freforfiaa & & @@t fohea o1 = hifve
(A) HUT 1 T TN HUT 2 AR |
(B) o 13T INHYT 2T R |
(C) HF 132 T |
(D) U 13 2 I 3EA T |

21. i few 7u siem-1 9 Hict-11 | feu e ugi & & Tt 1 == & 1
Hiew-1 Hiem-11
() SHeH (a) AT shl ST Heb ATl Sl <hl Jrferehan i
Gi) i g o ®) IPR 1956 % dw@
(i) T IEM (c) T T At % forw ofe
(iv) T A 6 SRR F (q) Ao gl | aied
Y 1 YR
forebew

A ©-(@) ®B) @) - )
(©) (i) - (o) D) @) - ()

22. ‘98 ITCTHITCcTeh SUSTTH &, S SR oh Teh Rl & ot Fohil H ST o HROT 39 BIt 8 |
TS AT 3 TR TSR SRUISTII o JehR ol gaM shitve | (W& forshed sl s ) 1
forepea

(A) =B SR B) HEH SUSIRY
(C) et SUsR (D) =uTTeHeh SUSATR
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20. Read the following statements carefully : 1

Statement-1 : Hired workers may be regular salaried workers or casual
workers.

Statement-2 : Regular salaried employment is a major source of
employment in rural areas in India.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

21. From the terms given below in Column-I and Column-II, choose the
correct pair of statements : 1
Column-I Column-II
@) Subsidies (a) Maximum quantity of goods
that can be imported
(1) Land ceiling (b) Element of IPR 1956
(111) Small Scale Industries (c) Land to the tiller
(iv) Modernisation as a goal of five (d) Change in social outlook
year plan
Options :
A @O-@ B) 1) - (b)
(C) (i) - () D) @) -
22. “It is short-term unemployment occurring, as people transit between jobs.”
On the basis of given definition, identify the type of unemployment
indicated. (Choose the correct option) 1
Options :
(A) Disguised Unemployment
(B) Seasonal Unemployment
(C) Open Unemployment
(D) Frictional Unemployment
58/1/1 ~ 15|Page EE_;E_,E P.T.O.
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23. Trafefaa swemi-21fiemed (A) @ R0 (R) 1 SI-Yds A S | A feu e fospedi
T ¥ g2 forehed o1 == i 1
e (A) : 3Tl guwl ¥ wd, =9 g amiiies T W e e %

TRETHEEY SEd 74 fas ehas (HDI) 3T gU Y |

%R (R) : < <hs A TaIehT® Gehdehi (HDI) T HRA o bt ™ & AT B |

faeeg -

(A) AR (A) g HRUT (R) THT IcF & aUT R (R), AR (A) h T&t =
2|

B) IhHH (A) T HRO (R) SHI T 7, ek HRU (R), 3Tfmed (A) &t T&t
AT &1 HLT § |

(C) THUA (A) T B, b SRl (R) A 2 |

(D) IANTHAT (A) 3T B, A HROT (R) TA R |

24. frfeiRad foa w1 eamgee st i 1

wwq@ﬁﬁmﬁaﬁ ﬁaﬁﬁ%{sﬁa@ﬁaﬁaﬁmﬁm
wfereefud s fen 2 |

ICETS IR
A) i gal B) frata gfeeam=
(C) 3T JER (D) IR T

e : FraferRaa we Fae g s < fore yom vem 24 F AW R |
30 AR ifd 1 Telfa wtar 7, fomet 3eva axgsii & oie] ITe &l

mmmﬁaa@@mﬁﬁwaﬁmm%l 1
ICET I
A) fraiq galq B) frata gfeeam=
(C) 3T Jiaem= (D) AT JER
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23. Read the following statements carefully : Assertion (A) and Reason (R).
Choose the correct option from those given below : 1
Assertion (A) : Prior to economic reforms, public investment in social
infrastructure by China resulted in better Human Development
Indicators (HDI).
Reason (R) : China is ahead of India and Pakistan on many Human
Development Indicators (HDI).
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

24. Study the following image carefully : 1

Identify, the trade practice that has successfully replaced foreign goods
with domestic production.

Options :
(A) Export Promotion (B) Export Substitution
(C) Import Proliferation (D) Import Substitution

Note: The following question is for the visually impaired
candidates only, in lieu of Q. No. 24.

refers to a trade policy aimed at reducing reliance on imported

goods by encouraging domestic production. 1
Options :
(A) Export Promotion (B) Export Substitution
(C) Import Substitution (D) Import Proliferation
58/1/1 ~ 17|Page @;g,ﬁl P.T.O.
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25. hiem-1 ¥ fou e Fr=farfad ueh 1 shiem-11 1 fou v 379 & Tt o6 1

HiAq-1 HieH-11

(@) g e ek (i) I 1 IR

(b) SAHIEThE Tehash (i) TS &

() Torom amfies &= (iii) 3rfafn sl fafafer = gom

(d) e goTedt (iv) @fEs ST

ﬁm:

Q) (@-@ B) () - @)

(©) (o) — (i) D) (@)~ @Gv)

26. frefciRad hemi-31fihed (A) 9 R (R) 1 &Y 31 i | = feu e faepedt
T 9§ gel foshed 1 I L 1
ARBU (A) :  Ta it Fmior amfefes wifforfermt § Seeen 6 arfier @ gig s

2 T AT ferehe b1 TicaTiad HidT 2 |
SR (R) : arfiert g€ fopet Ty Y IcuTes ufskan ¥ gotm =Rk o Ufaeia
Tefifg Tt 2 |
forshed
(A) AR (A) g HRUT (R) THT TcF & aUT SR (R), AR (A) < T&t =3
=
B) IfHH (A) T HRO (R) THI T 7, bt HRU (R), 3Tfped (A) St T&
SR TEI AT 3 |
(C) AR (A) T 7, Wfeh HRUT (R) 38R 2 |
(D) AR (A) IFEA 7, WAfehd SR (R) T 3 |

27. wra freAferfiaa 4 @ o et /afvaes s g 1 Hew 18l @ 2 1
(A) fs=g (BRICS) (B) ¥ (SAARC)
© G-20 D) G-7
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25. From the following terms given in Column-I, match the correct pair of

meaning given in Column-II : 1
Column-I Column-II
(a) Human Development Indicator (1) Rule of Law
(b) Demographic Indicator (11) Constitutional Protection

(¢) Special Economic Zone (1i1) Generation of additional

economic activities

(d) Commune System (iv) Collective industrialisation
Options :
A (a)-0 B) (b) -G
(©) (o) — (D) D) @ -a@v)

26. Read the following statements carefully : Assertion (A) and Reason (R).

Choose the correct option from those given below : 1

Assertion (A) : Human capital formation increases the rate of
participation of population to economic activities and leads to

economic growth.

Reason (R) : Rate of participation of people refers to the percentage of

people engaged in production process of a country.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

27. India is NOT a member of which of the following regional/global economic

grouping ? 1
(A) BRICS (B) SAARC
€ G-20 D) G-7
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28. (a) “farrd guEmafy ¥ g wiyfadi w sehT e g |7
IYURE o T I4 TIERIT gRT 3Nfere firg = | 3
COG
(b) &l & <t ot H smefior e 6 it Sl st A e e % i %
SHITOTT hT TS . | 3
29. WHE YSft g 3Tffeh foenra & Hex Taey wefud =i | 3

30. (a) S hIeATIRh BN S o TG & ST el T GEIHTET hl HITHd i H HETT

T & aUT YR ek Rl YieaTfad id & |7
IGUH U hT 98 TR gy ey fag ot | 3
(b)  STIMNTOT &THAT <1 TRATIYA e | 1

31. (a) WIRAR SR o ASHT 3L & ¥9 § ‘ATH-Ffar & == & A & qehi b
Gfere o | 4
T
(b) =T i TR, Tore TohR ag @ e KX (GST) A FEGT 9 FaTan T HU I Sgard
I ST feRm 2 | 4

32. UIferEd™ g 319 31TTeh ferehm 11 o foTu 331U 710 feremmareres shemi < o &t | 4
33. (a) WSRO g Scoifad ohi foh, FEAfcRad Som Ted 2 31ean 316 2x3=6

()  3afrafies e o wra # srEqfra foem g o |
(i) 1950 | 1990 % HeT YA H AN hi T8 7T iferart b1 Iewar &t wmman

T TIcETTEd ST 9T |
(iii) 1991 % IWI I ST H YA &I T (outsourcing) o I Teh 3 ket
T & T |
YT
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28. (a) “Cooperatives have received a setback during the recent past.”
Justify the given statement with valid explanation. 3
OR
(b) Explain the reasons behind less number of regular salaried
employees in rural areas as compared to urban areas. 3
29. Trace the relationship between Human capital and Economic growth. 3
30. (a) “Bio-pesticides help to reduce the ill-impacts of green revolution on
soil and water bodies while promoting sustainable development.”
Justify the given statement with valid explanation. 3
(b) Define Absorptive capacity.
31. (a) Describe briefly a rationale behind choosing ‘Self-reliance’ as a
planning objective for the Indian economy. 4
OR
(b) Explain how, Goods and Services Tax (GST) has simplified the
multiplicity of taxes on goods and services. 4
32. Describe the path of developmental initiatives taken by Pakistan for its
economic development. 4
33. (a) Giving valid reasons, state whether the following statements are
true or false. 2xX3=6
(1) India followed unbalanced growth during the colonial rule.
(i1) The economic policies implemented in India between 1950 —
1990’s sought to promote regional equality.
(iii) India has become a favourable destination of outsourcing, in
post 1991 period.
OR
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(b) () FWTTTH: 3
(1) e o STYeh SRS
(2) Teuefta 3 sgueia =mUR

(i) “OTe JEWT <l &S JET b foreg Ueh LT hare <hl STTEvIhal § |7 3

IURE HUA & Il T, 39 fe3m § TR g1 31T MU shed] i forede 9
Uy |

34. Fre=faRead w1 eamgde 31w i

HN-TTETT T TTHOT IeH R | JrHor e <6 fofe et & Heequ s S w R 19
RA § IO & T ST areft TR AT o1 FHIEE Rqd B @ | A IH I P,
IT-3eiia Frme gomeft @ et srmeita Fofr o9 d1el SueRtor I8 e ih! Tamei &1d &,
S TGkl d T S&Tdl H g i ¢ |

YT STET ! GAAEd Hich 9 TG TR & Tk TTMUT Hioh o Hehi o (018
3ferd e Treritor giafeem sned & aun arates feifor o R ot o 8 | @ sem
o &1 § USTIR go § AR ®9 | A0IEE YeH i & | TR 3 RKVY-
RAFTAAR, ¥ /a6 ¥ o1 Agri-SURE 31 fafer skt < mem & iy
wrdaTl g Efi o fore FRar fifa 3 foxfia wemrmr 1 yeeH frn 2 |

IO T YT T o 3R R Feferiiad g o 3T e

(a) 3oorE i foh for TpR FY-Teréard HfY & § o1 areft 7R gt w1 geem
eI H B | 4

(b) 9RA | Y 3T T ITTT ! TR ¢ H TR ht ftrest T feomof 6 | 2
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(b) (1) Distinguish between : 3
(1) Tariff and non-tariff barriers
(2) Bilateral and multilateral trade
(1) “Small-Scale Industries require a shield against large scale
industries.” 3
In the light of given statement, elaborate the steps initiated by

the government in this direction.

34. Read the following text carefully :
Agro-startups and rural enterprises are becoming increasingly vital for
rural development in India. They address the critical challenges faced by
rural sector in India. These ventures bring in technological innovations
such as precision farming, IT-based monitoring system and data-driven
decision making tools that enhance productivity and resource efficiency.
By streamlining supply chains and creating direct market linkages, they
ensure better pricing for farmers and reduce dependency on traditional
intermediaries. Such enterprises contribute actively to employment
generation in the rural areas. The government has demonstrated a
continuous policy and financial support for agri-startups and
entrepreneurs through various programs like RKVY-RAFTAAR, the Agri-
infrastructure fund and Agri-SURE.
On the basis of given text and common understanding, answer the
following questions :
(a) Explain, how agro-startups address the critical challenges faced by

the agricultural sector. 4

(b) Comment on the role of government in supporting agro-startups and

entrepreneurs in India. 2
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